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Microeconomics ( 4%@1’%& 3?&11?}? )

Choose any three, and only three, out of the following four questions, If you answer all the
four questions, only the first three will be graded.

1. Assume a price setting monoplolist-firm with no fixed costs and constant marginal cost of
$3 faces an original demand curve P = 10 - 0.1Q.

a.  WHat is the equation of the firm's marginal revenue curve?

b. What quantity will the firm produce to maximize profits? What price will it set to insure
that it sells all that it produces? '

¢. At the profit maximizing price, what is the firm's total revenue? Totabcost? Profit?

d. What is the value of consumer surplus? What is the value of deadweight lost?

2. United Airbags (A) and United Balloons (B) are two firms in the lighter-than-air parcel
post business. For each the number of delivered packages per hour (q) is a simple
function of the number of workers hired each hour (L):
Q=L-01L%

Wages of balloon pilots are determined by their opportunity costs of $4 per hour. Initially,
the competitive cost price of a detivered package is $10.

If firm A is a profit maximizer, how many pilots will it hire?

If firm B wishes to adopt a revenue-sharing formula that also yields $4 per hour to pilots

& »

and results in the same level of employment as for firm A, what share of revenues should

it pay to its pilots?’
c. Suppose the price of delivered packages falls to $5. 'What will happerrto hiring at firm
A?

d. H'the price of delivered packages falls to $5 and firm B maintains the revenue-sharing
formula and employment levels calculated in par (b), what will happen to pilots' wages?

How might you expect firm B to adjust its contrdet to the lower price of delivered
packages? :

3. Ifa person's income rises by 10 percent and, simultaneously, the price of gasoline
increases by 10 percent, can we predict how the consumption of gasoline will be affected?
Can we predict how, on average, consumption of other goods will be affected? Use the
concepts-of income and substitution effects to answer this question.

4. Supposg, that a'market is dexcribed by the follawing supply and demand equations:
Q¥ =2pP ' '
Q°=300-P

a. Solve for the equilibrium price and the equilibrium quantity.

b. Suppose that a tax of T is placed on buyers, so the new demand equation is Q®= 300 -
(P+T). Solve for the new equitibrium. What happens to the price received by sellers,
the price paid by buyers, and the quantity sold? '

¢. Taxrevenueis TxQ. Use your answer to part (b) to solve for tax revenue as a function
of T.

d.  The deadweight loss of a tax is the area-of the triangle between the supply and demand
curves. Solve the value of it.
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Macroeconomics (4 f"\,QT'tA:& 3{;\ lT /§' )
Choose any three, and only three, out of the following four questions. If you answer all the
four questions, only the first three will be graded.

1.

ii.

bl

oo o

The real interest rate is defined as-the nominal interest rate less inflation, Because the

- Taiwanese government taxes nominal interest income, we can define the after-tax real

interest rate as the nominal interest rate after taxes, less inflation.

Suppose that the inflation rate is O percent, the nominal interest rate is 3 percent, and the
tax rates 33 percent. 'What is the real interest rate? What is the after-tax real interest-
rate? What is the effective tax rate on real interest income (the percentage reduction in
real interest inconie due to taxes)?

Now suppose that the inflation rate rises to 3 percent, and the nominal interest rate rises to
6 percent. What is the real interest rate now? What is the after-tax real interest rate?
What ig the effective tax rate o real interest income? :

Some economists argue that because of our tax system, inflation discourages saving.
Use your answers to parts (a) and (b) to explain this view.

Suppose that firms become very optimistic about future business conditions and invest
heavily in new capital equipment.

- Use an aggregate-demand / aggregate-supply diagram to show the short‘—run'eﬂ'ect of this

optimism on the economy. Label the new levels of prices and real output. Explain in
words why the aggregate quantity of output supplied changes.

Use the diagram from part (2) to show the ngw long-run equilibrium of the €COnomy.
(For now, assume there is no change in the long-run AS curve.) Explain in words why
the aggregate quantity of output demanded changes between the short fun and the long
run. -

How miglit the investment boom affect the long-run AS curve? Explain.

If the ratio of deposits that banks hold in the form of reserves is 7 percent, and people
want to hold 8 percent of their deposits in the form of cash, what is the necessary level of
high powered reserves if the Fed wants to set the money supply at $800 billion? (Hint:
high-powered money is sum of currency held by the nonbank public and bank reserves.)
Assume an economy in which the reserve ratio is 15 percent and people bold 10 percent of
their deposits in the form of cash (and there are no other leakages):

If the current level of higher-posered money is $100 billion, what is the money supply in
this economy? . :

If the Fed set 4 target money supply of $560 billion, what would it have to do to achieve
that target?

According tothe IS-LM model, what happens,to the interest rate, income, consumption,
and investrént when-

the central bank increases the money supply?

The government increases government purchases?

The government increases taxes? ;

The government increases government purchases and taxes by equal amounts?
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